41
Mv) 710,000
Viscometer NO.C361 NO.C356
41
%
[] Mv
1 5.68 718,877
2 5.69 721,024
3 5.171 733,678
4.2
%
[] v
1 6.04 798,678
2 5.73 729,832
3 5.74 732,078

1.25
1.55
3.34

12.49
2.79
311

(%)

(%)

(Viscosity average molecular weight,
Cannon-Ubbelohde

41 42
Viscometer NO.C361
Mv %
Mv
Mv
124,526 2.04 %
Viscometer NO.C356
Mv %
Mv
3 ) Mv
753,529 6.13 %



4.2

60

10

30, 40, 60, 80, 100, 110

O© OO N O o1 B W DO

—
o

43

[]

1.288
0.825
1.357
1511
1.524
1412
1.326
1.452
1.312
1.384

120

My

164,990
102,223
174,472
195,897
197,709
182,130
170,230
187,684
171,058
178,250

8 X105

2.5

4.3-4.12
413

Mv

172,464

68

1X106 1

0, 10, 20,

41

50 KGy

Mv

120,223- 197,709



4.4

O© O©oOo N O o1 BB W NN
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o

4.5

© O©oO —J oo Ol B~ W N

[EEN
o

[]

0.6575
0.6567
0.6822
0.7124
0.5984
0.6843
0.6212
0.7021
0.599
0.6584

[ ]

0.5434
0.4434
0.526
0.502
0.487
0.428
0.51
0.468
0.58
0.546

80,068
79,963
83,306
87,278
12,356
83,582
15,324
89,922
12,434
60,185

65,230
52,418
62,987
59,902
57,980
50,463
60,929
55,551
69,966
65,566

Mv

80,042

Mv

60,099

69

60+10 kGy

Mv

12,356-87,278

60+20 kGy

Mv

50,463-69,966
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4.6

4.1

[]

0.3313
0.3493
0.3450
0.3300
0.3494
0.3363
0.3234
0.3328
0.3624
0.3587

[ ]

0.3372
0.3850
0.2972
0.2024
0.3067
0.2561
0.3389
0.3650
0.2213
0.2962

Mv

38,315
40,384
40,612
38,154
40,578
38,938
37,334
38,502
42,196
41,733

39,050
44,969
34,092
22,555
35,265
29,050
39,261
42,522
24,828
34,030

39,675

34,562

10

60+30 kGy

Mv

37,334-42,196

60+40 kGy

Mv

22,555-44 969
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48

4.9

[]

0.3800
0.2439
0.3350
0.1604
0.1857
0.2640
0.2393
0.2467
0.2800
0.2582

[]

0.1703
0.2269
0.2920
0.1720
0.2616
0.1408
0.1317
0.2210
0.1867
0.1653

44,404
21,565
38,776
17,565
20,561
30,015
21,006
21,905
31,975
29,306

18,733
25,504
33,414
18,899
29,121
15,268
14,209
24,780
20,680
18,142

29,508

Mv

21,935

1

60+60 kGy

Mv

17,565-44,404

60+80 kGy

Mv

14,209-33,414



4.10
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4.11
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[]

0.0966
0.1150
0.1330
0.0693
0.0631
0.0592
0.0640
0.1180
0.2322
0.0918

[]

0.0920
0.0920
0.0838
0.0867
0.0605
0.1180
0.0807
0.0847
0.0765
0.0662

Mv

10,182
12,281
14,395
1,124
6,441
6,014
6,485
12,581
26,146
9,639

Mv

9,611
9,661
9,132
9,064
6,156
12,580
8,392
8,840
1912
6,725

11,129

8,807

12

60+100 kGy

Mv

6,014-26,146

60+110 kGy

Mv

6,156- 12,580



412

O© OO N O o1 B LW N -
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o

4.13

[]

0.0320
0.0170
0.0919
0.0480
0.0785
0.0686
0.0180
0.0266
0.0899
0.0372

60
60
60
60
60
60
60
60
60

—~~ N /N M/~ /N —~ —~ —~ —~

+  +

3,093
1,542
9,650
4,800
8,146
1,047
1671
2,544
9,424
3,649

10

13

60+120 kGy

Mv My

5,157 1,542-9,650

(MY
(Da)

180,269
) 80,896
) 50,003
) 39,304
) 33,406
) 27 853
) 20,660
) 9,460
) 8,388
) 4,682



200000

10

180000 ¢
160000 -
g 140000 -
= 120000
100000 -
80000 -
60000 -
40000 -
20000 -
0 - : e S
0 20 40 60 80 100 120
(kGy)
41 (Mv)
60 kGy 2.5
1 10



4.3

417,418

4.19

, Yyield
414,415  4.16
Dilute Solution Viscosity

40,000

60+30 kGy

15



4.14

NaOH (%)
0.75 1
1.00 WA
2.00 Y
4.00 Yl
1 x1wWw 121
2
1 x1§Y 2

2

()
0.559

1.154
1.012
0.976

, Yyield
40,000 )

%yield

21.95
51.70
50.60
48.80

1%NaOH
1
2

60+30 kGy (
0.75, 1.00, 200 4.0

2
' %yield
()
(t+++4) ) 0.330 1650 2=
(+) X
(+4) \
(+4) 2
Uxy Z
( 31)
XY Z



4.15
60+30 kGy (
1

1%NaOH
(ml) ()

3=0048

b= 0.044

0= 0.052

1= 0.039

10

a WH wd Wi
2R Q2 @
I 3 @ d
2R @ @

10

%yield

2.40
2.20
2.60
1.95

, Yyield

20000 )

1%NaOH

(+++++1+4)
(++++++4)
(t++++4+4)
( )

FH++t4+t

1%Na0H
(i)
5
10
20
30

abc d
abc

d

1%NaOH
2

()
2= 0428

2= 0.944
@ = 1.168
@ = 1.099

ahc d

a, C

%yield

21.40
47.20
58.40
53.45

1%NaOH
510,20 30

(+++4)
(++ 1)
(*)

(*)



4.16

60430 KGy (

1%NaOH
(ml) ()
A= 0.132
" Bl= 0.125
010.110
01-0.128
A g
R 2R @
A ea @
SR 82sQ 2

15

%yield

6.60
6.25
5.50
6.40

0000 )

1%NaOH

(++++++4)
(

(++++++44)

tt+t+t4)

(++++++4)

1%NaOH
(mi)
5
10
20
30

ABC
ABC

1%NaOH
2

()
R = 0389

& = 0.882
02= 1.199
@ = 1.087

ABC
ABC

2
1%NaOH
AB C 510,20 30
2

%yield
1945 A= (++++4)
4410 8= (++4)
59.95  02= (4)
5435 02= (4)



411

21

kGy (

=
[S—

o-|_|>mmpmhwmpm#wmpmhwmpmhwmp

(M)
0.75, 1,2

(M)
62,369
59,300
59,915
57,161
61,945
45,422
46,216
30,994
39,436
51,481
51,541
50,019
40,047
37,409
50,679
42,992
55,218
48,723
50,738
41211
40,971
44,781
54,951
50,247
57,468

4%
3.4)

60,138

43,910

45,939

47,176

49,683

2

NaOH

19

60+30

Mv

57,161 -62,369

30,994-57,481

37,409-51,541

41,211 -55.218

40,971 -57,468

1%NaOH



we

W@

4.18

1%NaOH 2 5 10, 20
( 32)

1% NaOH

2 () (Mv)

66,288

63,456

10,112 65,134
60,486

65,330

57,532

68,515

58,441 58,777
51,186

58,210

43,650

40,009

43,008 42,835
42,597

39,910

475217

44,127

47,086 46,759
48,930

46,125

10

20

30

(&2 B S NS B A SN & 5 B .- I G B SN &y B N IS B AG I SO S 1 T ~ SR FU R NG S

80

60+30 kGy
1%NaOH

30

Mv

60,486-70,112

51,186-68,515

39,910-43,650

44,127-48,930



WA2

VVB2

We?2

81

419 (MY 60+30 KGy
2 ABC D
1%NaOH 1 15
19%NaOH 2 510,20 30
( 33)

1% NaOH "

(M)
)

58,715

60,987

61,244 60,468 58,715-62,458

62,458

58,936

49,926

51,864

50,035 50,239 48,692-51,864

48,692

50,679

33,328

38,042

44,077 37,100 30,126-44,077

30,126

39,928

44,002

45,126

46,221 44,540 43,189-45,126

43,189

44,156

10

20

30

3 2 TN~ LI C NS . IR Y SC R NC RS T~ SO C NS L T~ JC R NCRRRN



44

8,000

60+110 kGy
8,000 2

, Yyield
2 4.20
2 Viscometer
4.21
4.22

82



4.20 1%yield 2

60+110 kGy ( 8,000 ) 1%NaOH 1%NaOH
12,3 4 40,4550 60 2
3.4)
1 2
%yield %yield
19%NaOH 19%NaOH
(mi) () () ()
40 = 0.018 0450 1= (t+++t++++4) 12= 1.143 2858 D=
45 A= 0413 1032 2= (F+++4++44) 2 2= 0473 118 2=
50 3= 1.098 2745 A= (t+++++14) P=0248 620 2=
60 M= 1102 2755 A= (F+++++4) 2= 0186 465 4=
1 2 31 4 1 123 4
2 2 RN L 2 123 4
1 231 4 1 123 4

2 232 2 2 123 4



31

4.21

1%NaOH

1 (m)

40

45

50

60

Ol B W N O BEW Y e O B0 Y oY

(My)

60+110 kGy

66,259
69,163
10,967
81,103
75,956
21,235
28,768
31,024
23,698
26,134
22,987
31,484
17,341
21,662
26,739
26,206
21,730
22,173
24,852
14,465

12,690

21,312

25,243

21,885

Mv

66,259-81,103

23,698-31,024

17,341 -31,484

14,465-26,206

84



422

1%NaOH

1 (ml)

40

45

50

60

(S 2 B S . " I O B S & o B S R \C B S S I N S N LS R SEO & 5 T — N G I G R

(My)

60+110 kGy

(M)

20,757
14,535
15,292
13,330
15,397
16,813
13,007
14,926
13443
10,254
6,277
9,143
8,315
1,134
8,106
3,896
4,779
5,836
6,012
4,168

15,862

13,625

1,915

4,938

85

Mv

13,330-20,757

10,254- 16,813

6,277-9,143

3,896-6,012



4.5

34

(40,000

(8,000

4.23

)

)

1.144

0.226

4.23

% yield

57.20

5.65

(&2 B S @C NN & Iy S & 5 I~ G B NG

2 1

Mv

42,025
39,994
44,062
40,945
41,657
1,951
9,003
9,124
8,348
1,654

86

40,000 8,000

3 3.3
R/
40,000 8,000
%yield
2
Mv
41,737 39,994-44.062

8,416 1,654-9,124
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